/D3 OOP9:,|:}"HT AR

KETZzMHERFZERAF
BiE: 0352-5099489 fEE. 0352-5099521

Hotk: WA EKEHRKKFEES HiZ%: 037038

E-mail: sxdtysd@yahoo. com. cn
Ptk : www. ysd2000. com

{ERREAP

—. B

ZD300P9 HLIZA AT d5 A2 E T 1T H T e 24
TEMEHZE LA, BAmhIvaeit R, &
RN ATEENE A B W R — % 5 B . AT
a LIS T =T, el UL L
PRCUR AR, PR  SE b ) I T b S SEER E
SRS R . 3G H TR HPIHE190%E .
Z. ¥RIEFR

1. TAEHR: 24VDC

2. TAEH: 2.8A

3. HynHbH: 2.5~4.5Q

4. THEATRE: 23mm

5. f KAAARE: 1. 3Nm

6.7 ifi: 206

7.9 #): <500Hz

8. MBI : —45°C~+120C

9. AN : <95%

= PITHRRER

2?%&%%L%W@&%%$@ I e
15 S T o B s AR
M@, R .

stz K11

3. AR QMNMFFE R E W, R
TR g A N AR L [ R A R A R
RN, O E R ETOR [ WA (i
BT V) 5 4R A o it A 2 A7 21 doe K 1k ik
(VA PR SR ANEZEGD g o S

‘% B

AT )
!

 BREFAFERTR

1. oRESEHAL I 2 B 1) SO LA U S 4% 58 2 9% 1,
IVERHERE N TSI

I




4. HANAT SO H NE R BE AR L,
[ RN 5 @) AT 88 IR ekt
WA FIIFAT I AT 4% B R 2247 (V) .

5. AEPATAY P R OU T, HAEHAT 4 £
i A A AT Bl A B K R A IR
AN TE 0 23 3o R A A R B PRy e R A
FORORIE. AT 8% v il S vl A i
b N R B, AR . AT A 2R
WA WE (VD)

6. VER : PTAT 5 I MR ET AE B N AR RS
PRAE IR SO [, HERE AT 2R 28 24 288 4L
&

B BITRRERLETEATRIEER

BT SRR AL E T I C AN R (R
AR RS AT R E e, P — A TE
o RIS GUT, B ANULHES, AT
ATHE MRS . I I T R A, WU e e i
I, 1 s P R 1 0 20 B R W s B ) 7
QTEIVIL, S P U S R ) £ B R ik R A
T BIHAT 8 1 2 5 9 22 1 2 AR DE Ry 1k

75 EECEABARZESR

T A KA HAT | B
1 EHAMR s 1
2 WEET M8 X 20 A 3
3 1 JE GB848-85 | A 7
4 | wpdEEApE | GB859-87 | A 7
5 B2ET M8 X 40 A 4
6 ke 4 1
7 R 4 1
8 bHES) 2 1
9 P 2 1
10 | JhFFEN £ 1
11 B2ET M6 X 14 A 1
12 e A 1
13 WEET M6 X 20 A 4
14 | #HEH |GB/T860-87| A 4
15 | HATH 7D300P9 & 1




